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[bookmark: page28]Post Experimental Questions
Question 1: Have you ever been influenced by information received from the client that hindered you from judging objectively?
Question 1.1:  If so, how often you think that did happen?
	One time
	Rarely
	Sometimes
	Often
	Very often

	1 time
	2-5 times
	6-15 times
	16-30 times
	>30 times



Question 2: Have you ever felt unsure about how and what to do to complete your task?
Question 2.1: If so, did you make use of prior year audit work or files of similar clients in order to understand your task?
Question 2.2: If so, on a scale of 1 to 10, by how much have you been influenced by making use of prior year audit work or files of similar clients?
	No influence
	
	Highly influenced

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10



Question 3: Have you ever encountered time or budget constraints that impeded appropriate client information assessment?
Question 3.1:	If so, how often do you think that did happened?
	One time
	Rarely
	Sometimes
	Often
	Very often

	1 time
	2-5 times
	6-15 times
	16-30 times
	>30 times



[bookmark: page29]Question 3.2: On a scale of 1 to 10, how big is the difference that you have thereby come to a different conclusion?
	No different
	
	Totally different

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10



Question 4: Sex
Age
Audit Firm
Position
Years of working experience in audit
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Source

Type of anchor
Bias

Question:

Based on Joyce, E. J. and Buddle G. C. (1981). Anchoring and adjustment m probabilistic mierence m auditing. Journal
of accounting Research. Vol. 19(1), 120-145.

self-generated anchor

conjunctive/ disconjunctive probabilty estimates

As part of your going concern assessment you must make an estimate of the probabity of success of ts proposed
new product line, which is deemed necessary for the client to remain 2 going concen. The client has experienced
financial difficulties during the last few years.

There are four steps, all of which are necessary for successful introduction of the product

1. Successful labour negoiations befween the construction firms contracted to buld the necessary plant.
2. Successful defense of patent rights

3. Successful negofiation of a long-term raw material contract with a forcign supplier

4. Successful conclusion of distribution contracts talks with a large national retai distributor.

Inview of the circumstances, you contact experts who have provided your audit fim reliable estimates in the past
‘The labour relations expert estimates that there is an 20 percent chance that labour negoiations will not be
successfully resolved before the sirike deadline. Legal counsel advises that there is 2 ten percent chance that the
patent rights defense will be unsuccessful. The two remaining parts have an estimated failure of 10 percent each.
‘What s your assessment of the probabilty of successfl product introduction? Assume these estimates are reliable.
Please provide your best estimate of 2 successful product infroduction in percent below.

¥ estiatche probabiy ok satcesshl prodac i oddiion To e petcent {50 equil 0% use rounded Frmres)
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Question:

Based on Joyce. E. J. and Biddle G. C. (1981). Anchoring and adjustment in probabilistic nference m auditing. Journal
of accounting Rescarch. Vol. 19(1), 120-145.

self-generated anchor

conjunctive/ disconjunctive probability estimates

As part of your going concern asscssment you must make an cstimate of the probability of success of its proposed new
product line, which is deemed necessary for the client to remain a going concern. The chient has experienced financial
difficultics during the last few years.

There arc four steps. all of which are necessary for successful introduction of the product:

1. Successful labour negotiations between the construction firms contracted to build the necessary plant.
2. Successful defense of patent rights

3. Successful negotiation of a long-term raw material contract with a foreign supplier

4. Successful conclusion of distribution contracts talks with a large national retail distributor.

In view of the circumstances, you contact experts who have provided your audit firm reliable estimates in the past. The
Iabour relations cxpert estimates that there is an 80 percent chance of successfully concluding labour negotiations before
the strike deadline. Legal counsel advises that there is a 90 percent chance of successfully defending patent rights. The
experts in the remaining two arcas cstimate the probability of successfully resolving by 90 percent cach. Assume these
estimates arc reliable. What is your assessment of the probability of successful product introduction? Please provide
your best cstimate of a successful product introduction in percent below.

1 estimate the probability of a successful product introduction to be percent ( 50 equals 50%, use rounded figures)




image9.jpeg
Source

Type of anchor
Bias

Question:

Based on Joyce. E. J. and Biddle G. C. (1981). Anchoring and adjustment in probabilistic inference in auditing. Journal
of accounting Research. Vol. 19(1), 120-145.

self.generated anchor

Unsufficient adjustment from own anchor

You are conducting a routine year-end audit of a medium sized tire wholesaler. Your firm has conducted its anmual
audit for the last three years. During that time no significant errors were discovered by the audit tests and clear
opinions were issued. The management and employees of the clent scem both competent and trustworthy. You are
about to plan your substantive tests of revenue and collection cycle. You review the client's internal conirols to identify
the types of errors that could occur in the system and whether specific conrols exist which would prevent or detect
such errors. The first error you consider is "Sales recorded for goods not shipped". Your review of the relevant
controls for this error reveals the following.

1. There is adequate control over back order and partial shipments

2. There is adequate control of access to the shipping area

3. Prenumbered shipping documents are used

4. Sales invoices are matched to shipping documents

5. Shipping is segregated from the biling function

6. Regular shipping reports are prepared and reviewed monthly

7. Overdue accounts receivable are investigated timely

8. Unmatched sales invoices are idenpendetly reviewd and followed up.

Based on this information, indicate the extent of the substanive tests you would perform in this engagement fo test for
the specific error "Sales recorded for goods not shipped".

Minimum Maximum
1 2 3 4 5 6 7 8 B 10

Now suppose that nstead of the preceding description, you had received one that was idenical exept the following
two conrols:

3. Prenumbered shipping documents are not in use.

5. The accounts receivable team also perfoms clerical duties for the shipping departement.

Based on this different information,indicate the extent of the substantive tests you would perform now to test for the
specific error "Sales recorded for goods not shipped”.

Minimum Maximum
1 2 3 4 5 6 7 8 9 10
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Question:

Based on Joyce, E. J. and Biddle G. C. (1981). Anchoring and adjustment in probabilistic inference in auditing. Journal
of accounting Research. Vol. 19(1), 120-145.

self-gencrated anchor

Unsufficient adjustment from own anchor

You arc conducting a routine year-end audit of a medium sized tire wholesaler. Your firm has conducted its annual
audit for the last three years. During that time no significant crrors were discovered by the audit tests and clear opinions
were issued. The management and employees of the client scem both competent and trustworthy. You are about to plan
your substantive tests of revenue and collection cycle. You review the client's internal controls to identify the types of
errors that could occur in the system and whether specific controls exist which would prevent or detect such errors. The

1. There s adequate control over back order and partial shipments
2. There is adequate control of access to the shipping arca

3. Prenumbered shipping documents are not in use

4. Sales invoices are matched to shipping documents

5. The accounts receivable team also perfoms clerical duties for the shipping departement.

6. Regular shipping reports arc prepared and reviewed monthly

7. Overdue accounts receivable are investigated timely

8. Unmatched sales invoices are idenpendetly reviewd and followed up

Based on this information, indicate the extent of the substantive tests you would perform in this engagement to test for
the specific error "Sales recorded for goods not shipped”

Minimum Maximum
1 2 ¥ 4 5 6 7 8 9 10
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Source Based on Kinney, W. R., & Uecker, W. C. (1982). Mitigating the Consequences of Anchoring in Auditor Judgments
The Accounting Review. Vol. 57(1), 55-69.

Type of anchor - Self-generated anchor

Bias Statistical - Mean revering level

Question: You are the auditor for a small manufactoring firm and you arc conducting an analytical review of the gross profit
margin. The valucs of the accounts and the ratios based on the audited values for the last two audit years and the current
period's unaudited values are reproduced below:

2014 2015 2016 (unaudited numbers)
Sales 19'778 23'941 24265
Cost of Sales 15'893 19'749 18'660
Gross Profit 3'885 4'192 5'605
Gross Profit Percentage 19.6% 17.5% 23.1%

You have no reasons to expect major changes from recent historical relationships.

Indicate a range of possible valucs of gross profit percentage beyond which you fecl that an investigation should be
conducted to 'explain’ the apparent change in gross profit percentage for unaudited 2016:

Upper bound of range: (c.g. 50 cquals 50%, rounded figures only)
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Source Based on Kinney, W. R., & Uecker, W. C. (1982). Mitigating the Consequences of Anchoring in Auditor Judgments
The Accounting Review. Vol. 57(1), 55-69.

Type of anchor - Self-generated anchor

Bias Statistical - Mean revering level

Question: You are the auditor for a small manufactoring firm and you are conducting an analytical review of the gross profit
margin. The values of the accounts and the ratios based on the audited values for the last two audit years and the current
period's unaudited values are reproduced below:

2014 2015 2016 (unaudited numbers)
Sales 19'778 23'941 24265
Cost of Sales 15'893 19'749 20868
Gross Profit 3'885 4'192 3'397
Gross Profit Percentage 19.6% 17.5% 14.0%

You have no reasons to expect major changes from recent historical relationships.
Indicate a range of possible valucs of gross profit percentage beyond which you fecl that an investigation should be
conducted to 'explain’ the apparent change in gross profit percentage for unaudited 2016:

Upper bound of range: (c.g. 50 cquals 50%, rounded figures only)
Lower bound of range:
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Question:

Own creation
Extemal anchor
Asbitrary information

You are the auditor of a small company that owns shops. Since you do not trust the company’s values in the unaudited
financial statement, you run your own caleulation. The free cash flow from your computation about a shop is provided
below:

2016 2017 2018 2019 2020
Free cash-flow 5'000'000 200'000 5'000'000 5'000'000 5'000'000
WACC 10%

The building will be demolished by the end of year 2020.
You remember that your client told you that another company sold a similar shop next to the one you have to cvaluate
for CHF 10,000,000

Please provide your best estimate of the fair value of this shop:
Your best estimate of the fair value is: (in rounded CHF)
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Question:

Own creation
External anchor
Arbitrary information

You are the auditor of a small company that owns shops. Since you do not trust the company’s values in the unaudited
financial statement, you run your own calculation. The free cash flow from your computation about a shop is provided

below:

2016 2017 2018 2019 2020
Free cash-flow 5'000'000 200'000 5'000'000 5'000'000 5'000'000
WACC 10%

The building will be demolished by the end of year 2020

Please provide your best estimate of the fair value of this shop:
Your best estimate of the fair value is:

in rounded CHF)
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Question:

Based on Joyce, E. J. and Biddle G. C. (1981). Anchoring and adjustment in probabilistic inference in auditing. Journal
of accounting Research. Vol. 19(1), 120-145.

External anchor

Arbitrary mumber as anchor

1. Based on your audit experience, is the incidence of significant management fraud more than 100 in each 1,000
clients (ie. one percent) audited by an accounting firm?

a) Yes, more than 100 in each 1,000 audit clients have significant management fraud
) No, fewer than 100 in each 1,000 audit clients have significant management fraud

2. What s your estimate of the number of audit clients per 1,000 that have significant management fraud? (Fil in the
appropriate rounded number)

i S 1,000 it el Bve Significaint management fand
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Question:

Based on Joyce, E. I. and Biddle G. C. (1981). Anchoring and adjustment in probabilistic inference in auditing. Journal
of accounting Research. Vol. 19(1), 120-145.

External anchor

Asbitrary number as anchor

1. Based on your audit experience, is the incidence of significant management fraud more than ten in cach 1,000 clients
(i. one percent) audited by an accounting firm?

a) Yes. more than ten in cach 1,000 audit clients have significant management fraud.
b) No, fewer than ten in cach 1,000 audit clients have significant management fraud.

2. What is your estimate of the number of audit clients per 1,000 that have significant management fraud? (Fill in the
appropriate rounded number)

in cach 1,000 audit clients have significant management fraud.




